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General Intelligence & Reasoning

1). Sixhouses P, Q, R, S, T and U are located in two
rows with three houses in each row. The houses in
both the rows face each other. Pis facing T. Q is
not facing U. S is between P and U. Which three
houses are in the same row?

@QRT (S TU (c)PLQR (d)P ST

2). A paper is folded and cut as shown below. How
will it appear when unfolded?
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3). Select the option in which the given figure is
embedded (rotation is not allowed).
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4). Study the given pattern carefully and select the
number that can replace the questions mark (?) in
it.

345 36
4 7166

2313

(a) 100 (b)90 (c) 110 (d) 80
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5). What was the day of the week on 20th July
20097

(a) Tuesday (b) Monday (c) Saturday (d) Sunday

6). Kripal starts driving from his home and drives 37
km towards south. From there he turns left and
drives 31 km. Then he tums right and drives 27
km. Then he turns left and drives a certain
distance of Y kilometer. After that, he turns left and
drives 57 km. Now he finally turns left and drives
58 km to reach a bank, which is exactly 7 km
south of his home. Find the value of Y in Km.

(@22 (b)27 ()36 (d)55

7). A certain sum of money was distributed among
Darshana, Swati and Nivriti. Nivriti has 539 with
her. If the ratio of the money distributed among
Darshana, Swati and Nivritiis 5 : 6 : 7, what is the
total sum of money that was distributed?

(a) 21,341 (b)31,422 (c) 1,386 (d) T1,356

8). Select the option that is related to the third term
in the same way as the second term is related to
the first term.

TACKLE: ACEKLT : : DETOXING : ?
(a) OTEDGLXN (b) DEIGONTX (c) EDOTXIGX
(d) DEGINOTX

9). Study the given pattern carefully and select the
number that can replace the question mark (?) in
it.

8973
1257

714 63

(a) 146 (b) 132 (c) 106 (d) 136

10). Komal is the wife of Daman. Radhika is the
mother of Arpan. Sayantani is the daughter of
Malaya, who is the brother of Kartik. Sayantani's
mother Radhika is the daughter-in-law of Daman.
How is Komal related to Kartik?

(a) Paternal grandmother (b) Maternal grandmother
(c) Mother (d) Sister



11). In a certain code language. 'FRISK' is written as
'315' and 'DOUBLE' is written as '354". How will
‘TENT' be written in that code language?

(a) 352 (b)230 (c)332 (d)236

12). Select the correct combination of the
mathematical signs to replace star symbols in the
below equation and there by balance it.

65*5%17*24*21*224
@+ x+-= (b)) x-+= (c)x+-+>=
(d) +’ Ximy# =

13). Four letter-clusters have been given, out of
which three are alike in some manner and one is
different. Select the odd letter-cluster.

(@ CHR (b)LRI (c) TZA (d) HNM

14). Select the option that is related to the third term
in the same way as the second term is related to
the first term.

CAMERA : ACDLAR :: MOBILE : ?

(a) OMHAEL (b) MOHALE (c) OLMIBEL
(d) OMJCEL

15). Select the letter cluster that will replace the
question mark (?) in the following series.

DZP, SCG, JFV, YIM, PLB, ?

(a) FOR (b)EOS (c) DOS (d) ESP

16). Pointing to the photograph of a man Gopesh, a
lady said, "his daughters fathers mother's only
daughters husband's father's only son is the
husband Of my husband's sister." If Gopesh is the
only son Of his parents, how is the lady related to
Gopesh?

(a) Niece (b) Wife (c) Sister (d) Mother

17). Select the correct mirror image of the given
figure when the mirror is placed at MN as shown
below.

ywgpnb536zb

@dsdEcnqpw,
odsdEandbwy

Cdsofcnqpwy
DdzaEcuqpwy

18). fU=M>J=RandJ=3S <T, Then which of
the following options is NOT correct ?

(@J<T ®)M>T (¢)J<U (dR=S

19). 'A + B' means ‘Ais the father of B'
'A—B' means 'Ais the wife of B'
‘A x B' means 'Ais the brother of B'
‘A + B' means 'Ais the son of B'

Hence, if we considerMxRxQ+F+S—D <+ U,
then which of the following statements is NOT
correct?

(a) M is the paternal uncle of F.

(b) Q is the maternal grandfather of S.

(c) S is the daughter-in-law of U.

(d) F is the father-in-law of D

20). Which option represents the correct order of the
given words as they would appear in an English
dictionary?

1. Pendant
2. Pending
3. Pendency
4. Pedaling
5. Pentagon

(@)5.1,3,4,2 (b)4,51,3,2 (c)4,1,3,2,5
(d)4,1,2,3,5

General Knowledge & General
Awareness
1). Who is the Central Minister for Commerce and
Industry as on January 20197
(a) Rajnath Singh (b) Suresh Prabhu
(c) Arun Jaitley (d) Nitin Jairam Gadkari

2). What is the position of Haryana in Swachh
Survekshan Grameen 20187

(@4 (B)S (c)7 (d)1

3). The only lady who has ruled Delhi as a Sultan —
Raziya Sultan belonged to which dynasty?

(a) Mamluk dynasty (b) Tughlaq dynasty
(c) Sayyid dynasty (d) Lodi dynasty

4). Which of the following is the structural and
functional unit of kidneys?



(a) Nephron (b) Pits (c) Nutrofil (d) Tentacle

5). What is the frequency range of audible waves?
(a) 20 Hz-20000 Hz (b) 21000-24000 Hz
(c) 25000-30000 Hz (d) 31000-40000 Hz

6). In which state did the Union Ministry of Health
declare 22 cases of Zika virus in the year 20187

(a) Tamil Nadu (b) Kerala (c) Rajasthan
(d) Sikkim

7). Which Governor General was credited with the
initiation of the policy of ‘Paramountcy’?

(a) Lord Richardson (b) Lord Hastings
(c) Lord Clive (d) Lord Williamson

8). In Oct 2018 who was appointed as the next
Ambassador of India to the United Nations
Conference on Disarmament, Geneva?

(a) Pankaj Khanna (b) Pankaj Das
(c) Pankaj Sharma (d) Pankaj Kumar

9). In which month was the Summer Youth Olympics
held in Argentina in 20187

(a) March (b) October (c)August (d) December

10). In which event did Manu Bhaker win the gold
medal at the Youth Olympic Games?

(a) 50 m air pistol event (b) 10 m air pistol event

(c¢) 20 m air pistol event  (d) 100 m air pistol event

11). Shadows are formed when a object
comes in the path of light.

(a) Opaque (b) Transparent (c) Luminous

(d) Translucent

12). In Oct 2018, who was appointed as the new
Solicitor General of India?

(a) Mohammed Faisal (b) Tushar Mehta
(c) Deepak Chawla (d) Rakesh Kumar

13). Who took arms and led an anti-British
movement when the British tried to annex the
State of Kitoor?

(a) Sethu Lakshmi Bai (b) Rudramadevi

(c) Rani Chennamma (d) Rani Lakshmi Bai

14). Manu Bhaker won a gold medal in the ISSF
Junior World Cup 2018. Where was the event
held?

(a) Germany (b) France (c) ltaly (d) Denmark

15). Which of the following is not an Indian Classical
singer?

(a) M S Subbulaxmi (b) Ustad Bismillah Khan

(c) Bhimsen Joshi  (d) Dr. Balamuralikrishna

16). Who is the Central Minister for Skill
development and Entrepreneurship as on January
20197

(a) Kalraj Mishra (b) Dharmendra Pradhan
(c) Sushma Swaraj (d) Suresh Prabhu

17). is a freestyle dance in which
performers dance with clay pots filled with burning
incense.

(a) Kuchipudi (b) Dhunuchi Naach (c¢) Kathakali
(d) Odissi

18). Alphonso mango that received the
Geographical Indication Tag in 2018 belongs to
which state?

(a) Maharashtra (b) Madhya Pradesh (c) Kerala
(d) Tamil Nadu

19). The mixture of lammable gases (carbon
monoxide and hydrogen) and non-flammable
gases (nitrogen and carbon dioxide) is called by
what name?

(a) Laser Star Gas (b) Breathing Gas
(c) Producer Gas (d) Laughing Gas

20). In which year BSE secured a trademark for its
iconic building Phiroze Jeejeebhoy Towers at Dalal
Street in Mumbai?

(a) 2011 (b) 2015 (c) 2000 (d) 2018

Elementary Mathematics

1). Direction: Study the given histogram that shows
the marks obtained by students in an examination
and answer the question that follows.
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The number of students who obtained less than
250 marks is what per cent more than the number



of students who obtained 400 or more marks?
(Correct to one decimal place)

(a) 150% (b) 175.8% (c) 114.3% (d) 100%

2). Direction: Study the given histogram that shows
the marks obtained by students in an examination
and answer the question that follows.

60

50 45
Samm— 40
40 35 35

Number of Students
w
=1

150 200 250 300 350 400 450 500

Marks

If the total marks obtained by students be
represented as a pie chart, then the central angle
of the sector representing marks 200 or more but
less than 300, is: (correct to the nearest degree)

(a) 128° (b) 154° (c)68° (d)88°
3). Direction: Study the given histogram that shows

the marks obtained by students in an examination
and answer the question that follows.

Number of Students

The number of students who obtained less than
200 marks is:

(a)75 (b)30 (c)45 (d) 135

4), The internal length, breadth and height of a
cuboidal room are 12 m, 8 mand 10 m,
respectively. The total cost (in ¥) of whitewashing
only all four walls of the room at the cost of Rs.25

per m?, is:

(a) 12,600 (b) 10,000 (c) 11,400 (d) 18,000

5). If the numerator of a fraction is increased by
60% and the denominator is increased by 40%,
then the resultant fraction is 16/63. The original
fraction is:

@2 M2 ©2 @2
9 9 11 9

6). Five bells ring together at the intervals of 3, 5, 8,
9 and 10 seconds. All the bells ring simultaneously
at the same time. They will again ring
simultaneously after:

(a) 6 minutes (b) 8 minutes (c) 9 minutes

(d) 4 minutes

7). The average age of 40 students of a class is 16
years. After admission of 10 new students to the
class, the average becomes 15 years. If the
average age of 5 of the new students is 11 years,
then the average age (in years) of the remaining 5
new students is:

(a) 10 (b)15 (c)16 (d) 11

8). Direction: The following pie chart shows
percentage expenditure of a country on different
heads. The total expenditure is Rs.1,680 (in
billions). Study the chart and answer the question.

Aize:l
Employwe: 7
Defence: 12

Interest Payment: 15

Proceads o stafes: 34 -

Edscation: §

The central angle of the sector representing
expenditure on Interest payment is:

(a) 90° (b)72° (c)54° (d)108°

9). Direction: The following pie chart shows
percentage expenditure of a country on different
heads. The total expenditure is Rs.1,680 (in
billions). Study the chart and answer the question.

Allze:l
Employee: 7

Defrnce; 13 et

Interest Payment: 15

Proceeds to statess 34 I

Edscation: 8

The expenditure on Education is what percentage
less than the expenditure on Defence?

(a) 150% (b)50% (c) 100% (d) 125%

10). Direction: The following pie chart shows
percentage expenditure of a country on different
heads. The total expenditure is Rs.1,680 (in
billions). Study the chart and answer the question.



Mise:l
Employee: 7

Defence: 12 UL

Interest Payment: 15

Vi o
Proceeds to stifes: 34 . Shiéaka: 4

Edscarion: 6

The expenditure for Proceeds to state (in billions)
is:

(a) 571.20 (b) 586.50 (c)684 (d) 126

11). A's salary is 35% more than B's salary. How
much per cent is B's salary less than that of A's?
(correct to the nearest integer)

(@) 17.5% (b) 20% (c) 35% (d) 26%

12). A sum of Rs.36,000 is divided into two parts, A
and B, such that the simple interest at the rate of
15% p.on A and B after two years and four years,
respectively, is equal. The total interest (in Rs.)
received from A is:

(a) 1,800 (b) 3,600 (c)7,200 (d) 5,400

13). P and Q together can do a work in 12 days. P
alone can do the same work in 36 days. In how
many days can Q alone complete two-third part of
the same work?

(@12 ()15 (c)18 (d)21

14). In an entrance examination at different centres,
a total of 25, 30, 40, 45, 60 and 100 students
appeareThe pass percentages of the different
centres are 20%, 30%, 35%, 40%, 50% and 75%,
respectively. The pass percentage of the entrance
examination is: (correct to the nearest integer)

() 59% (b)43% (c)53% (d) 50%

15). The speed of a boat in still water is 15 km/h,
and the speed of the current is 5 km/h. In how
much time (in hours) will the boat travel a distance
of 60 km upstream and the same distance
downstream?

(@20 ()12 (c)9 (d)10

16). |f the volume of a sphere is 4851 cm?, then its
surface area (in cm?) is: (Take M=22/7)

(a) 1427 (b) 1386 (c) 1399 (d) 1268

17). Ifa? + b2 =82 and ab = 9, then a possible
value of a° + b3 is:

(a) 720 (b) 750 (c)830 (d) 730

18). Direction: The number of students in Class X
in Science, Arts and Commerce streams of a
school over a period of 4 years (2011 - 2014) has
been depicted through the bar chart given below.

| 80
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What is the difference between the averages of
the number of Science and Commerce students in
the given class over the given period of 4 years?

(a8 (b)10 (c)12 (d)5

19). Direction: The number of students in Class Xl
in Science, Arts and Commerce streams of a
school over a period of 4 years (2011 - 2014) has
been depicted through the bar chart given below.

B Science
o Ans

" Cormmeroe

What is the average of the number of Arts students
in the given class over the given period of 4 years?

(a)25 (b)30 (c)35 (d)32

20). A can complete a certain work in 35 days and B
can complete the same work in 15 days. They
worked together for 7 days, then B left the work. In
how many days will A alone complete 60% of the
remaining work?

(@10 ()15 (c)8 (d)7

English Language

1). Select the most appropriate meaning of the
underlined idiom in the given sentence.

Ritu added insult to injury when she told all my
friends that | had not cleared the entrance exam.



(a) to insult someone by speaking badly about them

(b) to say something that makes a bad situation even
worse

(c) to insult someone without any reason

(d) to feel very bad about a failure

2). Select the most appropriate option to fill in the
blank.

All residents are

that the entrance gate will
be closed at 11 PM.

(a) being hereby inform  (b) inform hereby
(c) hereby informed (d) hereby to be inform

3). Choose the most appropriate option to change
the narration (direct/indirect) of the given
sentence.

Father ordered me not to disturb everyone with
such loud music.

(a) Father said to me, "Please, you do not disturb
everyone with such loud music."

(b) Father told me, "You may not disturb everyone
with such loud music."

(c) Father said, "You are not disturbing us with this
loud music.”

(d) Father said to me, "You must not disturb everyone
with such loud music."

4). Select the most appropriate antonym of the
given word

IGNORANCE

(a) stupidity  (b) unwillingness (c) knowledge
(d) incapability

5). Select the most appropriate option to substitute
the underlined segment in the given sentence. If
there is no need to substitute it, select "No
substitution’.

With who are you going to the party?

(a) At whose (b) No substitution (c) With whom
(d) For who

6). Select the most appropriate antonym of the
given word

AFFILIATION

(a) alliance (b) likeness (c) coalition
(d) detachment

7). Choose the most appropriate option to change
the narration (direct/indirect) of the given
sentence.

| advised my students not to forget to revise their
answers after completing the paper.

(a) | advised my students, "You must have to revise
your answers after completing the paper.”

(b) | told my students, "l am warning you not to revise
your answers after completing the paper.”

(c) | told my students, "You didn't forget to revise your
answers after completing the paper."

(d) | said to my students, "Do not forget to revise your
answers after completing the paper."

8). Select the most appropriate synonym of the
given word

PREDICAMENT

(a) depression (b) revelation (c) dilemma

(d) prophesy

9). Choose the most appropriate option to change
the voice (active/passive) form of the given
sentence.

The interior designer will renovate the guest room.
(a) The guest room has been renovated by the interior
designer.

(b) The guest room will be renovated by the interior
designer.

(c) The guest room is being renovated by the interior
designer.

(d) The guest room was being renovated by the
interior designer.

10). Select the most appropriate option to substitute
the underlined segment in the given sentence. If
there is no need to substitute it, select 'No
substitution'.

Most people of my age group enjoys reading a
good book on a Sunday afternoon.
(a) enjoying (b) was enjoy (c) No substitution

(d) enjoy

11). Select the most appropriate synonym of the
given word

INVENTORY

(a) creation (b) admission (c) disclosure

(d) catalogue

12). Choose the most appropriate option to change
the narration (direct/indirect) of the given
sentence.

Rupa said to me, "I'll call you tomorrow to fix the
meeting."



(a) Rupa told me that she'll call me the next day to fix
the meeting.

(b) Rupa told me that she would call me the next day
to fix the meeting.

(c) Rupa told me that she is calling me the next day to
fix the meeting.

(d) Rupa told me that she is going to call me the next
day to fix the meeting.

13). Choose the most appropriate option to change
the voice (active/passive) form of the given
sentence.

| am writing a new story.

(a) A new story is being written by me.
(b) A new story was written by me.
(c) A new story will be written by me.

(d) | am going to write a new story.

14). Select the most appropriate meaning of the
underlined idiom in the given sentence.

It's no use crying over spilt milk when you yourself
took the decision.

(a) feeling upset for no reason over every little thing
(b) pitying someone who had a loss
(c) expressing concern over the loss of a dear person

(d) feeling sorry over a mistake that cannot be
changed

15). Identify the segment in the sentence which
contains the grammatical error.

Instead of panicking, it is good to keep yourself
safe and not get anxious whenever there is of
natural calamity.

(a) of natural calamity (b) to keep yourself safe

(c) and not get anxious (d) Instead of panicking

DIRECTION 16-20 Read the following passage
and answer the questions that follow.

South Koreans are famously nonchalant and know
how to “keep calm and carry on” whenever there is
an adversity. The South Korean approach to
Covid-19 could not have been more different.

On 16 January, the South Korean biotech
executive Chun Jong-yoon grasped the reality
about Covid-19 unfolding in China and directed his
lab to work to stem the virus's inevitable spread;
within days, his team developed detection kits now
in high demand around the world. There has been
a general consensus in South Korea to trust in and
respect the advice coming from doctors and
scientists.

Meanwhile, the South Korean government
assumed the virus would hit. Experience with the
2003 Sars epidemic proved useful. As a result,

South Korea has been effective in controlling the
nation’s mortality rate not through travel bans but
instead through widespread rigorous quarantine
measures and testing, now even exporting
domestically produced test kits — such as the
51,000 diagnostic products sent this week to the
United Arab Emirates.

Most importantly, South Korea immediately began
testing hundreds of thousands of asymptomatic
people, including at drive-through centres. South
Korea employed a central tracking app, Corona
100m, that publicly informs citizens of known
cases within 100 metres of where they are.
Surprisingly, a culture that has often rebelliously
rejected authoritarianism has embraced intrusive
measures.

Other nations would be wise to copy the South
Korean model: on 29 February, 700 people tested
positive in the primary South Korean outbreak city
of Daegu. By 15 March, only 41 new cases were
reported there. As expected, based on the
continued lack of immunity in the population, on 18
March, the number of cases began rising again,
with Seoul now bracing for the worst. Now, South
Korea started to screen all people arriving at
airports, Koreans included.

South Koreans have universal health care and are
accustomed to paying half what Americans pay for
similar medical procedures.

16).
Choose the steps taken by South Korea to
control spread of the virus in the country:

a. Stopped people from travelling

b. Tested people extensively for the virus
c. Made people remain in isolation

d. Imported diagnostic kits

e. Took advice from China

(a)dande (b)bandd (¢)bandc (d)aandc

17). The most effective step taken by the South
Korean government to stop the Covid virus from
spreading was:

(a) doing a scientific study of the virus
(b) doing large scale testing to detect it
(c) stopping people from travelling

(d) asking scientist and doctors for advice

18). Corona 100m is:

(a) the name of a centre for testing for the
Coronavirus.

(b) an epidemic that has affected many countries.
(c) a virus that attacked people of Korea.

(d) an app that informs Koreans about Covid cases
around them.



19). From the passage, we can infer that an
epidemic can be controlled if:

(a) a country is rich and authoritarian
(b) a country has foresight and is proactive
(c) people have faith in their government

(d) all countries work together

20). South Korea's approach to Covid-19 can be
described as:

(a) nervous when faced with a new challange
(b) agitated when it is confronted with health issues
(c) very imposing on its people

(d) very calm during the time of difficulty



